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1. The demands functions for twa products depend on the prices of product 1 and
product 2, P; and P;, We can express demand functions of the two products by:

. Q,=15—3P;+P2, Q;=6—2P,+PF;. On the other hand, each supply curve

Q;=2+P,, Q;=1+P; Pleasc solve for the market

depends on only its own price:
equilibrium of the two products: Py, P2, Q1 and Q; ( / é /g)
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A. Suppose that Panasonic and Zenith are the only two firms that can produce a new
type of high-definition television. The payoffs (in millions of dollars) from
entering this product market are shown in the following payoff matrix: (1 é%’j

Panasonic
Entar Do Not Enter
Enter -40 0
Zenith -40 250
Do Not 250 0
Enterl () 0

a. Ifboth firms move simultaneously, does either firm have a dominant strategy?
Explain.

b. What are the Nash equilibria, given that both firms move simultaneously?

¢. Ifthe U.S. government commits to paying Zenith a lump-sum subsidy of $50
million if it enters this market, what is the Nash equilibrium?

d. If Zenith does not receive a sibsidy but has a head start over Panasonic, what
is the Nash equilibrium?
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1. Which of the following statements about operating leverage is true?

I A fitin with low operating leverage will bave low fixed cosis compared with a fiem with high
operating leverage.
1L Fixed costs act like a lever, in the sense that a small percentage cha.ng: in sales revenue can be

magnified into a large percentage change in operating income.
I The higher the degree of opcmmg levcragc, the greater the potential danger from busmcss risks.

i only.

I only.

1 and Il only.
L1, and 1L

oowy

2, If & country liberalizes its depreciation rules for tax reporling purposes, more capital-intensive industries:
and less capital-intensive industries would benefit equally.

and less capital-intensive industries would not realize benefits.

wauld realize larger benefits than less capital-intensive industries.

would realize smaller benefits than less capital-intensive industries.

Uowy»

3 Which ore of the following would best explain a situation where the ratio of *'net income to total equity™ for
a firm is higher than the industry average, while the ratio of “net income 1o total assets™ js lower than the
industry average?

A Net profit margin is higher than the industy average.
B. Debt ratio is higher than the industry average.
" C. Asset turnover is higher than the industry sverage.
D. Equity multiplier must be lower than the indusiry average.

4, If a firm’s matio of “total liabilities to total assets” is higher than the industry average while its rtio of “long-
term debr to stockholders” equity” is lower than the industry average, it would most likely indicate that the
firm: -

A has more current liabilities than the indusiry average.
B. has more leased assats than the industry average.
C. will be less profitable than the industry average.
D. has maore current assets than the industry average.
"
5. Two cnmpames are identical except for substanually different dividend payout ratios. After several years

the company with the lower dividend payvout ratic is most likely to have:

A, lower siock price.
B. higher debi/equity ratio.
.C. less rapid growth of eamings per share.
D. more rapid growth of eamings per share.
6. Which of the following does NOT imply an informationally efficient marked?
Al Security prices adjust rapidly to reflect new information.
B. The timing of one news announcement is independent of other news announcemeats,
C. A risk-free asset exists, and investors can borrow and lend unlimited amount at the risk-free rate.
D Many profit-maximizing panicipants, exch acting independently of the others, analyze 2nd value
securities.
7. A company announces an unexpectedly large cash dividend (o its sharehalders, In an an efficient market

without information leakage, the most likely sxpectation is:

an abnormal price change at the announcement

an abnormal price increase before the annouacement.

an abnormal price decrease after the announcement.

no abrormal price change before or after the announcement.

ooy
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Assume that at the end of the next vear, Company A will pay a $2.00 dividend per sharg, an increase from the
curreat dividend of $1.50 per share. After that, the dividend is expecied 1o increase at a constant rate of 5%,
If you require a 12% return on the siock, what is the value of the stock?

Al $28.57.
B. £28.79.
C. $30.00.
D. 53178
Company B paid a $1.00 dividend per share last year and is expected to continue to pay out 40% of its

camings as dividends for the foresesable furure. I the firm is eapected to generate a 10% rétum on equity in
the funire, and if you require a 12% retun on the stock, what is the value of the stock?

A $12.50. -

B. $13.00. :

C. $16.67.
D. £17.67.

Which one of the following would tend to reduce 2 firm’s P/E ratio?
The firm decreases its financial leverage significanily. )
The firm permanently increases its fetum on equiry.

- The level of inflation is expected to rise to double digit levels.
The mte of retun on Tesasury bills dacreases.

onw

Consider a five-year bond with a 10 percent coupon that has a present yield-to maturity of § percent. 1
intersse cates remain constant, one year from now the price of this bond will be:

- A. higher.
B. lgwer.
C. the same.
b cannot be determined,

An investment in a coupon bond will provide the investor with a refum equal to the bond’s yield to maturity
at the rime of purchase ift

1 . the bond is not called for redemption at a price that exceeds its par value.
il all sinking fund payments are made in a prompt and timely fashion during the life of the issue. -
IL the reinvestment rate is the same as the bond's yield to matunity.
A 1 cnly.
'B. [l only,
C. 1 and il only.
D. 11, and Il only.

The interest rate risk of 2 noncaltable boad is most fikely 10 be positively related to the:
risk free rate,

band's coupon rate,

bond*s time to maturity.

bond's yield to maturity.

OOwR

The embedded option that is least fikely 1o be a benefit 1o the issuer of debt securities is the:

A. floor on a floater. -

B. right 1o calt the issue.

c. accelerated sinking fund provision.

D, right of the underlying borrowers in 2 pool of loans 10 repay 2n amount in excess of the scheduled
principal payment.

All else being equal, which ane of the following bonds most fikely would sell for the highest price (o fowest -
yield)? :

A. Caliable debenture.

B. Putable mortgage bond.

C. Callable mortgage bond.

D. Putable debenture,
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Which of the following statements about “shact selling” is TRUE?

A shor position may be hedged by writing call optioas.

A shont position may be hedged by purchasing put options.

Short sellers may be subject to margin calls if the stock price increases.

Stacks that pay arge dividends should be soid short before the ex-dividend date and bought
afterward 10 ke advantage of the large price decline in a short time pericd.

onEy

The minimum data required to calculate the implied forward rate for 5 years beginning 2 years from now
would be:

A, spot rafes at -month intervals for the 7-year period.

B. spot rates at L-year intervals for the 7-year period.

C. the 2-year and 7-yeat spot raies.

D. spot rates at §-month intervals for 2 years and the 7-yéar spot rate.

An invesior buys two calls and one put on ABC stock, all with a sirike price of $45. The calls cost $5 each,
and the put costs 34. 1f the invesior closes the position when ABC is priced at 355, the investor's per share

gain or loss is:

A. £4 loss.

B. $6 gain.

C. $10 gain.

D. $20 gain. .

An investor buys a call option with a $23 exercise price priced at 54 and writes a call option with a 540
exercise price priced at §2.50. 1f the price of the stock increases to $50 at expiration and the options are
exercised on the expiration date, the net profiteal expiration (ignoring transaction costs) is:

A, $ 8.50.
B. $13.50.
C. £16.50.
D. $23.50.

Two parties enter a three-year, plain-vanilla interest rate swap agreement to exchange the LIBOR rate fora
10 percent fixed rate on $10 million. LIBOR is 11 percent naw, 12 percent at the ¢nd of the first year, and 9

- percent at the end of the second year. [f payments are in arrears, which of the following characterizes the net

cash flow 10 be received by the fixed-rate payer?
A, $100,000 at the ead of year 2.
B. $100,000 at the end of year 3.
C. $200,000 at the end of year 2.
D. $200,000 ¢ the end of year 3.
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1. A AR

¥ I the Classical Linear Regression Model, multicollinearity leads to bias, not in
the estimation of regression coefficients themselves, but rather in the estirmation

of their varianees. (5 47°)

Z.. Measurement errors in a dependent variable create bias in OLS estimates. (5 4-)

2. Data [rom a randomized block design (K44 & 3% 3t) of ANOVA (4 235 47)
are shown in the following table.

Treatment Levels
1 2 3 4
Block ¢ 5 2 3 8
Block 2 7 g 3 5
Block 3 4 3 1 9

¥ Using a = 0.05, the caleulated I value for the treatments null hypothesis is ?
(5 9)

Z,. With o = 0.05, the calcufated F value for the blocking effects nul!l hypothesis
is 7(54)

3. A person wishes to compare the means of three populations. The data is ordinal.
Which of the fotlowing should be used? {5 4)
A one-way analysis of variance
B. Kruskal-Wallis
k C. Wilcoxon
P. Mann-Whitney

4. The Spearman rank correlation coefficient for the following set of data is ? (5 %)

X 21 22 35 32 33
Y 18 24 28 22 35




B 30 b ik B+ = A AR SR A AR

Loz &
2 1

e PLETH % 3R ¥ F

5. Ray Crofford is evaluating investment alternatives for the $100,000 which he
inherited ‘from his grandfather. His iavestment advisor has jdentified four
alternatives and constructed the following table which shows expected profits {in
$10,000's) for various market conditions and their probabilities. (5 9-)

Market Condition
Investment | Bull (.5) | Neutral (3) | Bear (.2)
3 -

T-Bills 3 3
Stocks 21 11 -30
Bonds 15 -3
Mixture 13 6 -10

1 Ray uses the Expected Monetary Value criterion, the appropriate choice is .

A, T-Bills
B. Stocks
C. Bonds
D, Mixture

6. lope llernandez, Marketing Manager of People's Pharmacy, Inc., wants a
regression model to predict sales in the greeting card department.  Her data set
includes two qualitative variables:  the pharmacy neighberhood (urban, suburban,
and rural), and tighting level in the greeting card department (soft, medium, and
bright). The number of dummy variables needed for "lighting level” in Hope's

regression model is (3 47)
A
B. 2
C. 3
D. 4

7. In a study of the determination of prices of {inal output at factor cost in the UK, the
following results were obtained on the basis of annual data for the period
1951-1969 in a log-linear model:

IMPF, = 2033+ 1.273In W, - 0.321InX, + 1.256InM, + 0.028InM,, +0.121InPF,,
(().9‘)2)) {0.127) (0.099) (0.024} (0.039} {0.119)
B=0.984 =254

Whete PF = prices of [inal oulput at factor cost, W = wages and salaries per employee, X = gross
domestic product per person employed, M = import prices, M, = import prices lagged | year,
and PF,., = prices of final ouput at facter cost in the previous year

¥~ Please explain the coefficient of W, (5 4)

Z. ~ Please comment: “Since for 18 observations and 5 explanatory variables,
the 5% lower anid upper  values are 0.71 and 2.06, the estimated  values
of 2.54 indicates that there is no positive autocorrelation.” (5 4-)




